RURAL EXAMPLE

20 FT PAVEMENT WIDTH
(DESIGN SOFTWARE - 1LANE AT 10 FT)

V, =50 MPH R = 1000 FT
W, = 10 FT rqg = 0.50
E =76 (7.6/ PER 802.40)

U=u+R—~/ RZ - 12
U = 8.0 + 1000 — ~/ (1000)2—(20)2
U = 8.20002

Fa—~/R?+ A QL+ AR
Fu =~/ 10002+ 47 2(20) + 41— 1000
Fp = .087996

7 = (VAR
Z — (50 /~/1000)
Z = 158
We = NW+O+Fa+ 7
W = 2(8.20002 + 2)+0.087996+ 1.58
We = 22.0680
w o= W, 2W, = 22.0680 — 2(10) 2.1

(R<2865 & w>2 THEREFORE WIDENING IS REQUIRED)

Lr= [E n, Wy = w/2)/ rg 1 by
Lr = [7.6(MMWUO+ 2.1/2) / 0.5011
Lr =7.6 (11.05)/0.50

Lr =167.96

RURAL EXAMPLE

72 FT PAVEMENT WIDTH
(DESIGN SOFTWARE - 3 LANES AT 12 FT)

Vp — 40 MPH R = 500 FT
W, = 12 FT rg = 0.58
E — 8.0 (8% PER PAGE 802.38)
U=-u+R —~/RZ — 7

U = 80 + 500 — ~/ (5007?— (207

U = 8.4002

Fae ~JRZ+ A @@L+ AR

Fa— ~J(50007+ 4L 2(20) +41 —500

Fa_ .1760

Z = (Vp/~JR )
Z = (40 /~/ 500 )

/Z = 17885

We = 2 U+ O+Fat Z

W, = 2(8.4002 + 3.0) +.1760 + 1.7885
We = 24.7651

We — 2W, = 24.7651—-2012) = 0.76510.8)

FOR 72'PAVEMENT WIDTH
w=3(0.8)= 2.4

(R<BB1 & w>2 THEREFORE WIDENING IS REQUIRED)

Lr
Lr
Lr
Lr

Lr
Lr
Lr
Lr

=[E nW +w/3/ rglby
=[8 (3) (12 +2.4/3)/ 0.581 0.6667
—=(307.2/0.58) 0.6687
—=353.12M
OR
= MIE(W,+ w/N)/rg]
=2 [8(12 +4.5/3) / 0.58]
=2 (102.4/0.58)
=353.1034

URBAN EXAMPLES

TC -5.01

24 FT PAVEMENT WIDTH

(DESIGN SOFTWARE - 1LANE AT 12 FT)

Lr = (W, n, E/rg) by

Lr =012¢1(4)/0.587 1.00
Lr = (48/.058)

Lr =82.7586

Vp = 40 MPH R = 600 FT
Wy = 12 FT rg = 0.58
E = 4.0 (47 PER PAGE 802.29)

66 FT PAVEMENT WIDTH

(DESIGN SOFTWARE - 3 LANES AT 1FT)

Vp = 40 MPH R =600 FT
Wy, = 1TFT rg = 0.58
E =4.0 (47 PER PAGE 802.29)

Lr = by (W, nyE/rg

Lr =0.6667 [11(3)(4)/ 0.58]
Lr =0.6667 (132/0.58)

Lr =151.7317

OR

Lr =M (E W /rg)
Lr =2 [401/ 0.58]
Lr =2 (44/0.58)
Lr =151.7241

CALCULATED TC-5.01 EXAMPLES
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